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Contour Integration- HW Problems

Evaluate [. z%dz where Cis

x2+y%2=1, y<0.

The line segment from i to 3 + 4.

The circle |z — 1| = 1.

The triangle with vertices at 0, 3, and 3 + 3i.

Thecurvey = 2x2%; —-1<x<0.

Let C be the circle x* + y? = 4. Evaluate §, f(z)dz where

f(z) =2z?2-1

f@=z+-
f@=-
f(2) = |z|
f(z) = Im(z)

Let C be the square with vertices at 0, 2,2 + 2i, and 2i. Evaluate
f(z)dz where f(z) = cos(z2).



4. Let C be the open upper semicircle of radius R > 1 given by
x?+y?=R? y>0. Show that

dz TR
a |fC z3+1| = R3-1"

b. lim [ =2 =0

R—o0 v C 23+1_




